®
ldorarny
Doran Scales, Inc.

www.doranscales.com

1315 Paramount Pkwy. * Batavia, IL 60510 ¢ 630-879-1200 ¢ 800-262-6844 * Fax: 630-879-0073

PART NO.

LC1010
(Specify Capacity)

LC1022
(Specify Capacity)

LC1042
(Specify Capacity)

LC1140
(Specify Capacity)

L C1250
(Specify Capacity)

LCBLC
(Specify Capacity)

SUB0223-1

SUB0223

Certified

Issued September 2001

Replaces 9/99

LOAD CELL REPLACEMENT PARTSLIST

DESCRIPTION

Load Cél, Type 1010 - Used in 8" x 10" & as an aternate to the Type
1042 with adapter kit; specify capacity:3,5,10,15,30,50,90 KG; al potted
except 3& 5KG;5ze: 45/8" L x1" Wx21/2H.

Load Cdl, Type 1022 -Used in 10” x 10" Quad-Spring bases
& 6” X 6" bases; specify capacity:3,5,10,15,20,30,35 KG; urethane coated;
Szee 518" Lx158" W*x7/8H *varieswith capacity,1 5/8" max.

Load Cedll, Type 1042 - Used in 10” x 107, 12" x 12" & 12" x 16"
bases; specify capacity:3,5,10,15,30,50,75,100 KG; urethane coated;
sze 6" Lx1"Wx13/8 H

Load Cél, Type 1140 - Stainless stedl cell; used in 10” x 10” & 12" x 12"
bases; specify capacity: 15,30,50,100 KG; all potted;
sze 6" Lx1"Wx13/8 H

Load Cell, Type 1250 -Used in 18" x 18", 18" x 24" & 24" x 24" bases,
specify capacity: 50,100,150,200,300,500,635,1000 KG; all potted:
Sze 712" Lx3 Wx27/8 H.

Load Cél, Type BL C - Used in Redi-Weigh bases; stainless steel
bending beam cell; specify capacity: 1K, 2.5K

Adapter Kit for DSP2000

Adapter Kit- Adapts LC1042 or LC1140 load cell to the DSP1000.
Replaces type 1010 Load cell in various bases. Includes 2 adapter
blocks, shims & hardware.

LOAD CELL PARTS PAGE 1

LIST PRICE

$ 180.00

$ 180.00

$ 180.00

$ 256.00

$ 285.00

$417.00

$ 55.00

$ 55.00



®
V4
m Doran Scales, Inc. www.doranscales.com 1S039000,

1315 Paramount Pkwy. * Batavia, IL 60510 ¢ 630-879-1200 ¢ 800-262-6844 * Fax: 630-879-0073

Issued September 2001
Replaces 9/99

LOAD CELL REPLACEMENT PARTSLIST

MISC. PARTSFORLOAD CELLS

PART NO. DESCRIPTION LIST PRICE
ENCO0154-1 Lower Shim for L C1042 $ 250
ENCO0155-1 Upper Shim For L C1042 $ 6.00
FST0035 Screw 1/4-20 (Hex) For LC1042 $ .50
FST0005 Lock Washer 1/4 For L C1042 $ .30
Use with FST0035
ENCO0010 L ower Shim For L C1010 $ 150
ENCO0006 Spacer For L C1010 $ 4.00
ENC0026 Shockarm For LC1010 $ 35.00
FST0049 Upper Screw 1/4-20 For L C1010 $ 50
Used on ENC0006
FST0005 L ock Washer $ .30
Used with FST0035
ENCO0117-1 Lower & Upper Shim For L C1250 (.125) Thick $ 200
ENCO0116-1 Upper Shim For L C1250 (.062) Thin $ 200
FST0113 Screw 3/16-18 (Hex) For LC1250 $ W)
FST0102 L ockwasher used w/ FST0113 $ 25

LOAD CELL PARTS PAGE 2



